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QUESTION 1

A layout contains a portal, based on a relationship configured to allow creation of related records. 

The portal object has the name Portal_1. Which technique can be used to navigate to a field in the empty row at the end
of Portal_1? 

A. use the Set Selection script step targeting a field in Portal_1, followed by the script step Scroll Portal [Last] 

B. use the Go To Field script step targeting a field in the desired portal, then use the Go To Portal Row [Last] script step 

C. assuming a field in the desired portal is in the tab order, use the arrow keys to activate the portal, then tab to the
desired row and field 

D. use the Go To Portal[Portal_1] script step, followed by the Go To Portal Row [Last] script step and the Go To Field
script step targeting the desired field 

Correct Answer: B 

 

QUESTION 2

Which two are required for a user to successfully run a script that uses the Execute SQL script step? (Choose two.) 

A. a compatible ODBC driver on the computer executing the script 

B. an ODBC Data Source (DSN) on the computer executing the script 

C. the [fmxdbc] extended privilege assigned to the user\\'s privilege set 

D. a Data Source in the Edit Data Source dialog for the file executing the script 

Correct Answer: AB 

 

QUESTION 3

An Instant Web Publishing (IWP) user runs a script containing script steps that are NOT 

webcompatible. When the script reaches the first incompatible step, what will occur? 

A. The script will always stop executing, with no feedback to the user. 

B. The script will always skip the incompatible script step and continue executing. 

C. The script will tell the user that a incompatible step has been encountered and prompt the user to Stop or Continue. 

D. The script will skip the incompatible script step and continue executing only if Allow User Abort is set to [Off] in the
script. 

Correct Answer: D 
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QUESTION 4

A database has an Order table and a Customer table. There is a relationship between Customer and Order. On a layout
based on the Customer table there is a portal showing all of that customer\\'s orders for the current calendar year. The
portal has no filter criteria applied. There is a calculation field in the Customer table, zSumOrders, that adds up the total
amount of all the customer\\'s orders for the year. This field is displayed below the portal. Which one may cause the
displayed value of zSumOrders on a customer record to change? 

A. adding one or more sort criteria to the Orders portal 

B. adding one or more sort criteria to the relationship on which the Orders portal is based 

C. using Filter Portal Records to further limit the set of records displayed in the Orders portal 

D. changing the criteria of the portal\\'s relationship to further limit the set of records displayed in the Orders portal 

E. selecting the Save record changes automatically setting in the Layout Setup dialog for the layout in question 

Correct Answer: D 

 

QUESTION 5

A user finds a set of records and saves the find criteria using the Saved Finds command. The user then switches to a
layout based on a different, unrelated table occurrence and attempts to perform the saved find. What will happen next? 

A. The saved find does not appear in the list of Saved Finds. 

B. The user receives the alert No records match this set of find requests. 

C. The saved find is available, but selecting it does not change the record set. 

D. The user receives the alert This set of find requests cannot be processed on this layout. 

E. The find is executed on the layout on which they saved the find, and the proper found set is displayed. 

Correct Answer: A 
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